V1. Funkcje trygonometryczne

| % 6.13. Wiedzac, 7e sin @ — cos & = m, oblicz:

a) sin’a ~cos’a b) sin*a + cos?ar.
# 6.14. Oblicza=sin&-sin B+ cos o - cos B, wiedzac, Ze g =~ 1litg f=— /3,

 6.15. Udowodnij, ze jeslia=x cos ot i b=y sin @, to y*- a?+ x*- b*=xy?,
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. #) cos® x—sinx=1-2sin’x; n/b)c—ols—xﬁcosx=sinx‘tg 5 \
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4 o d 2 i 2 v Sin X+ cosx :
i Cos” x—sin" x=cos‘x—sin’x; I+ === j
/ &) cos*x—sin' x=cos? x—sin?x; d)1 +ectg x o |
) cos*x+sin*x=1-2sin?x cos?x: f) (tgx+ctgx) = L /
'/ —®)co sin‘x= in s’ x; gx+ctgx) = I
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) (sié 7" c_oé—x) (sin x+ cosx) =ctg x— tg x;
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i) 1-2sin’x=

' % 7.2, Udowodnij tozsamoéci:
‘ a) sin‘ar +sin*a - cos’> @ + cos?or = Iy
b) (1 —cos’a)(1+ tg’o)=tg¢;

1+ig*o

—y—2—s — =1
©) tgla+ctg’a Ll
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+ o+ = + :
d) (1+2tga)(2+tgo)=5tga Py
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E) SIN" (X + cos” &

SINQ +cosor 1 SinQ-cosa;

f} sin“or+cos* @ —sin®a - cos®a = sin’er - cos’

(sin & + cos 05)2— 1
) ctg X —sina - cos @

=2tg’a

) sin“a+2cos?a—1
ctg’a

=sin’ ¢
i) 2(sin®a+costa)+1= 3(sina+cos*ar);

i) (L+etgo)-sin’a+ (1 +tg ) cos® o = sin o + cos a;
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